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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) whemefl gduem 199 T99-u9 I AT Aard: ford |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) &Yt v rfErE § |
All the questions are compulsory.

(3) I Y T I &1 TS IT-YEqehl | & ford |

Write the answer to each question in the given answer-book only.

@) T vt 8§ sreafe @ve ), 37 e % S v W @ R |

For questions having more than one part, the answers to those parts are to
be written together in continuity.
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(5) Y- & &=t 9 S wuTaR § fopelt wepr Y Ffe/ 3T/ fatienyma g1 W
EEARI IR FE R Fi Rl

If there i1s any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should be

treated valid.

(6) g T & 37 T T IR <h T1eg AT
3HA 1-13 1 20 Mg
q 14-21 2 60 Msg
g 25-27 3 IIRIES
< 28-30 4 250 3Tsg
Section Q. Nos. Marks per question Words limit of
answer
A 1-13 1 20 words
B 14-21 2 60 words
C 25-27 3 100 words
D 28-30 4 250 words

(7) 9% hHTe 22 W 24 g i @ Geftd € 3 s 2 S 12 |
Question Nos. 22 to 24 are related to map-work carrying 2 marks each.
(8) Torwa, YA T TSR o IUeTed T T {GT-HHTAT <l ITAL-YF&ThT o A1
Teef e |

Attach given outline maps of World, India and Rajasthan with the

answer-book.
(9) I ShHTH 29 3R 30 H AT fashed 8 |

There are internal choices in Question Nos. 29 and 30.
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SECTION - A
1. 3MY( A S 1 FEATIH i & ? 1
Who is the founder of modern human geography ?
2. S ST o fehegl €f I TSR % A faaRaw | Yo+ =1

Name any two major tools of the Bushman Tribes.

3. HIAT el hl YT e 9T €l ek [IRgU | v+1h=1

Write two factors that affects literacy rate.

4.  AHa fomE i 2013 & TER Fa fohaq <t o fow aa foswa g=ehiss 6
TUTT Y TS oft 7 1

According to the Human Development Report 2013, the total number of
countries for which the Human Development Index was calculated.

5. . faeer E.a. s % S1ER gHe AfarE 6t uftam fafee | 1
Write the definition of Human Geography by Prof. Vidal-de-la-Blache.

6. ool AREE RTE ? 1
What is Palli or Hamlet settlement ?

7. HE STHIEH § TIMNG iy I FTHad 8 7 1
What is the Shifting Agriculture known as in Central America ?

8. Uiy foehmm fha wad & 7 1
What 1s sustainable development ?

9. Uogtag 1 39T fohd o & fore fepam ST 2 7 (18 Q) Vit =1

For which work purpose aluminum is used ? (any two)

10. BRI~ forsrrqR—STdieTqt 719 UTey WATe 1 et TS R 8 7 1
What is the total length of Hazira — Bijaypur — Jagdishpur (HBJ) gas pipeline ?

11. SHIESH 21eT g “TISCO” MY HREH hl WUAT Fa I HET b T 7 Y+ %=1
When and where “TISCO” modern factory was established by Jamshed;ji Tata ?
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12 GrasT AT ohT TS $TA 2§ |
What was the duration of the 12™ Five Year Plan ?

forg T 1 WIS AT ASTITER gl JTdl @ 7
Which state is known as museum of minerals ?

qug - §
SECTION - B

A SIS T AU 7 TG 3T o STER W IR : 1+1=

(i) Trame= (i) w9 9 §&hid
Describe the Bushman Tribe based on the following points :
(1) Habitat (i1) Society and Culture

A Tty 9 31" T <1 @it s918d | 1+1
Draw a Star pattern and Radius pattern.

TAITET IR o ST TSR | IS g 3T fafan | 1+1

Write any two differences between livestock pastoral and commercial pastoral.

forva <hl W@ IR ITgqaTsHl < 91 fofEn | Vot Yo+ Yot Vo=

Write any four major pipelines of the world.

FUE SR T 8 a1 febegil g o1l <ht e hifsu | 1+1

Explain any two advantages of International Trade.

WRA H 91 YGYUT ST 5 IS IR G T | Vot Vot Vot Vo=

Give any four suggestions for water pollution prevention in India.

forTaTa fohe %gd @ 7 39 ST o ol g3 TAfeT | 1+1=

What is the sex-ratio ? Write the formula to find it.

TR & TR -JTOrTd SETe § R 3T ? (1S e 1+1=

What is the difference between conventional resources and non-conventional
resources ? (any two)
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23.

24.

25.

26.

27.
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@ I fova o T@r-weteE # friiend ciig-39aTd caTee hegi o 3fehd <hIfT : 2
OEREE (i) TAEH

(iii) Treerm (iv) 9

Mark the location of the following Iron-Steel producing centres in the given
outline map of the World :

(1) Krivoyrog (1) Tomsk

(i11) Chicago (iv) Perth

ﬁﬁ@wﬁ%i‘@ A § f=Tferd A sheg 37feha hIfSTT 2
(1) (11) TRE<T

(111) Tﬁﬂﬁﬁ:’ (1v) %WIT@TCI?EM

Mark the location of the following Fisheries centres in the given outline map
of India :

(1) Dahan (1) Porbandar

(i11) Tuticorin (iv) Vishakhapatnam

o3 T TerEe o tET-AHE ° fiferd ST IeTeH el bl JAfeRd hIfT 2
(i) AR (i) SR

(iii) TR (iv) TaH=<

Mark the location of the following Marble producing centres in the given
outline map of Rajasthan :

(1) Alwar (11) Jalor
(i11) Nagaur (iv) Rajsamand
Qg -4
SECTION -C
ITeh ITTHR <18 ST ITNT Fohd ITgehel T W TG foham ST Tehell & 7 IS
= s feaRew | 1+1+1=3

According to you, in which favourable place can the Iron Steel Industry be
established ? Give any three reasons.

WIRA H ST gl i FHAT=Id i < 3UT §amd | (15 ) 1+1+1=3
Give suggestive measures to control population growth in India. (any three)
FaqT ¥ T e § ggrre i SRl 6 @me i | 1+1+1=3

Explain three programmes currently helpful in poverty removal.
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SECTION -D

28.  SHIhehIa HehAuT firgr= shl 7T <hl 3T Higd <IredT shifvu | 4

Explain the stages of demographic transition theory with example.

29. 9RA H It BHA T gui fifend siehi & stwaid hifs 2+2=4
(i) Tavaes Wimiferes gumd |
(i) IcdTe o forewon |
JAYEn
AT § ST iEe &1 9uid fiferd fident & 3t=ria shifsre : 2+2=4
(1) SATEh ST TN |
(i) wE™ETRR et gnf

Describe the Rice crop in India under the following heading :
(1) Required geographical conditions.
(i1) Production and distribution.
OR
Describe the Water transport in India under the following heading :
(1) Inland water transport.
(11) Oceanic water ways.

30. TS | Hae! ol GH1eH F= i vewyul ¢ ¢ =g fasm 7g @18 6 game e |

1+ %+ Y%+ %+ %+ Y%+ % =4

3T
“TAATTRIT TR SATEfehelT T TS Sl T & & |7 T L, | 4

Why 1is surface water resources important in Rajasthan ? Give any six
suggestions for irrigation development.

OR
Explain “The influence of modernity on tribes is increasing”.
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